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=5x11x6 = 330(cm?)




17. the AgwA ] B2 FohA L.

(AeAA 9] Bu)) = (742) x (AIR) x (&°)
=3x5x6=90(cm?)




18.

& 2A219] 207} 17emdd HSAAL] 20E ToHA L.
» E cm?

> e 4913cm®

—~

iAo £1) = (7h2) x (M=) x (&)
17 x 17 x 17 = 4913( cm?®)




ol \
128/ i0em
S |
y 4 12cm
~20cm~
Ct cm3

(A=A e £1)) = (7h2) x (M=) x (&°I)
=20 x 12 x 10 = 2400( cm?)




20. th KA H)E FohA Q.

- -20cm- ~

AY
. 8cm
7/

2\
9cm

(A&RA ) 23) = (7h2) x (A1Z) x (=°))
=20 x 9 x 8 = 1440( cm?)




21. YAZFL Fa}1emd A AY|HE @ AHe] Bujep gex] 7

i
=

SHA]

Bl 5x5x9 = 225(cm?®) 0|2 &
Bl 7} 1 em? Q1 27| WE7) 225 7 9] Ful o 25yt




22. ASHA | B17F630cm® d o], EHO A 2= E cm 17| F5HA]
Q.

I \
! ocm
T /
Fmmmm—— o -

; |

/
Tgom= —em

(A8HA ) F3) = (7F2)x (M) x (&),
630 = 18 x| |x5
[ ]=630+5+18=7(cm)




23. o AgAA O Buj7} 7560em* L o, [
HEON Q.
I / [t4cm
= ~45cm- - chm
=E em

(F1) = (7F=)x (M 2)x(E°])
7560 = 45 x| |x 14
[ ]= 7560+ (14 x 45) = 12(cm)




24. YAEHE Fat F om? A4 F5HA L.

Tm )
\ /'
\\\ 8m
*3m-’
® 168 cm? @ 16800 cm?
@ 168000 cm? @ 1680000 cm?

(@) 168000000 cm?

~&B

(1) = (7F2) x (M2) x (&°l)
(F1])=3x8x 7 =168(m?)

1m = 100 cm,

1cm? = 1000000 cm?

w}2kA 168 m? = 168000000 cm?




\
T 4cm

@D 3x4x8=096(cm?)
@ 7x3x6=126(cm?)
® 5x2x6=60(cm?)
® 10x2x2=40(cm?)
® 4x4x4=064(cm?)




£ FatAe.

EEBEE

o
NI
op

1

=

152 cm?

> HE:

38 x 4 = 152(cm?)




